Temperature [K]

Pressure [Pa]/1000 Pressure [Pa]/1000 Pressure [Pa]/1000

Int. Ener. [J/mol]/1000

=
o
w
Ll

300 350

Temperature [K]

PSmolar

D I I I I I R R F X E R R PR R TR
D R I R R R R R R R R Ry
4 6 6 6 e s s s essscssscsssss0ecsscsssctssssc s

P I I I I I R R R Ry

eesesscssscscecsssccesens

0.20 0.25 0.30

Entropy [J/mol/K]/1000

0.15

DmolarP

4 esessece o o o o .

1072 1071 100
Density [mol/m3]/1000

DmolarUmolar

10!

70 A

[@)]
o
1

U
o
1

40 -

w
o
1

1072 1071 10°
Density [mol/m31/1000

TUmolar

10!

400 -

350 A

Not
300 -

Implemented

250 A

200 A

20 30 40 50 60

Int. Ener. [J/mol]/1000

80

Consistency plots for R1336mzz(E)

DmolarT

400 -

350 A

300 A

Temperature [K]

250 A

200 A

1072 1071 10°
Density [mol/m3]/1000

SmolarT

10!

400 -

350 A

300 A

Temperature [K]

250 A

200 A

o s sesssace

o o sesscnce

o sessecee

o sesssecen

o eessessccce.

ssessscessessse
Josssssesesessesess
o ececsccccssesssscsssenssensosesce

o seeescceccscccse:

sessssscsssee

[sesesccessccsssce:

soee

foesccccee

soee

.
pocoscscssscessce

pocosece

osecee

Joeeooe.

soee

| Ty

0.10

0.20 0.25 0.30

Entropy [J/mol/K]/1000

0.15

DmolarHmolar

0.35

80 A

70 A

[@))]
o
1

(O]
o
1

40

Enthalpy [J/mol]/1000

W
o
1

20 A

teseseseettt
vesesesess”
vesesesesct
P

1073 1072 1071 10°
Density [mol/m3]/1000

HmolarSmolar

80 A

70 A

60 -

50 A1

40 -

Enthalpy [J/mol]/1000

30 A

20 A

oo

eocsssscce
fecssssssssecesssecss
[cessecesscoossosces
seessse

0.10

0.20 0.25
Entropy [J/mol/K]/1000

0.15 0.30 0.3

SmolarUmolar

5

80 A

[@)]
o
1

40 -

Int. Ener. [J/mol]/1000
ul
o

W
o
1

20 A

Not
Implemented

0.10

0.15 0.20 0.25 0.30 0.35

Entropy [J/mol/K]/1000

HmolarP

Pressure [Pa]/1000

focesssceccesssssscscssescnnse
sesccesssssscsscsccscsssscas
sessecssssssssscsssscscsnssee
R R R R R R R R
seeeseesccccccccsesssessosccccnss
eesecesscccccccccsssessecscsnne
sesccssecsssssssscsccscsssccsennse
seesesesscscsssssccssscscssoescses
eeesesessessssssssssesssesssss e
P R R R R R R F R

eeecsesssescsecsecsscocscscsscsscsscnne

seecsssssessecesssscccssscssssosnnn
eseecseseseosssseccccssssssscsssssne
eseecscsescessscccccssssessssssssne
ecessesccssssscosccccscscsssscsscsscnne
600ssesecssssscorsssssocssscsssssosnnn

eseseseeessesvesssssssssscosscsccscscs

DR R R R R R R R R P X

40 50 60 70 80

Enthalpy [J/mol]/1000

PUmolar

s s e e e e
e e 00000 e
R
e oo 0 e e e e
s e e e e e e e
s e e e e e o0
s e s s 0000
D A A AN
s e s e e e e e
e e e e e e e e
e e e e e e
s s s s s s 00
e e e o e e
e e e e 00
e e e e e e
s s s s e 00

e o0 e e e e

Pressure [Pa]/1000

.

.

.

.

.

.

.

.

.

.

.

e e e s 00 e 0 s

DI

oo e e

s s e

s oo e

DECCY

s e e e

s e e e

oo oo

DI

oo e e

oo 0o

s e e e

oo e

oo e

e oo

R
R R
s e e s s e e s s s e
D R R )

o e e e s e

.

.

.

.

.

.

.

.

e o e

e e e

s e e e

e e s e

oo e o

e e o e

s e e e

o0 s 0

e e e s e

e e e e

e e e oo

e s e

o e o o

s e e e

eeescscssecscscsccnse

seecsssccscscssssscns

feesseescsssscsscsscsscsnsnss
ecesecessecssscscscsscsnsnse
sesescscsccsssssscscsscssscne
seeesessscccccccsssessocsese e
feeseseesceesssscccscscsnsscccccncse
sessecsecsssssssssccscsssscsennse

P R R R R E R R

40 50 60 70

Int. Ener. [J/mol]/1000

DmolarSmolar

0.35 A

0.30 A

0.25 ~

0.20 A

Entropy [J/mol/K]1/1000

0.15 ~

0.10 A

1073

1072 101 10° 10!
Density [mol/m3]/1000

HmolarT

400 -

350 A

W

o

o
1

Temperature [K]

250 A

200 A

Not
Implemented

40 50 60
Enthalpy [J/mol]/1000

70 80

HmolarUmolar

80 A

[e)]
o
1

U
o
1

40 A

Int. Ener. [J/mol]/1000

30 A

20 A

Not
Implemented

20

30

40 50 60
Enthalpy [J/mol]/1000

70 80



